9-20 Independent Practice: Displacement with Uniform Acceleration
1) A car with an initial speed of 395 m/s accelerates at a uniform rate of 0.92m/s2 for 3.6s. Fins the final displacement of the car during this time.

a. Circle the given numbers and their units. Box the unknown you will solve for.

b. Match each “given” to one of the four variables: 

a=


vi = 


t=


(x = 

c. Write the equation we will use:

d. Plug in the numbers for each variable:

e. Solve:

2) An automobile with an initial speed of 4.30m/s accelerates uniformly at the rate of 3.0m/s2. Find the final displacement of the car after 5.0 s.

a. Circle the given numbers and their units. Box the unknown you will solve for.

b. Match each “given” to one of the four variables: 

a=


vi = 


t=


(x = 

c. Write the equation we will use:

d. Plug in the numbers for each variable:

e. Solve:

3) A car starts from rest and travels for 5.0s with a uniform acceleration of -1.5m/s2. How far does the car travel during this time?

a. Circle the given numbers and their units. Box the unknown you will solve for.

b. Match each “given” to one of the four variables: 

a=


vi = 


t=


(x = 

c. Write the equation we will use:

d. Plug in the numbers for each variable:

e. Solve:

4) A driver of a car  traveling at 15.0 m/s applies the brakes, causing a uniform acceleration of -2.0m/s2. If the driver breaks for 4s, how far will the car have moved during the breaking period?

a. Circle the given numbers and their units. Box the unknown you will solve for.

b. Match each “given” to one of the four variables: 

a=


vi = 


t=


(x = 

c. Write the equation we will use:

d. Plug in the numbers for each variable:

e. Solve:

